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Name:

This packet should be completed over the summer
and will be due on the first day of school. It will
not be accepted late. This assignment will be
graded on completion as well as accuracy and will
count as TWO homework grades. You MUST show
your work on separate sheets of paper. If you do
not show your work, points will be deducted from
your grade. Please put your final answers in the
space provided. These problems are reflective of
the knowledge that is prerequisite to the course
Pre-Algebra. DO NOT USE A CALCULATOR.



Operdtions with Integers

. Neqotive 4 Neqoiwe /—\dd the abso?Jte vo%Ues of the two numbers ond make the answer -
negative.

ex 5+ — S+9=H —> onswer:@

»  Neagative + Posttive (or Posttive + Negative): Subtract the absolute values of the two numbers
(larger minus smaller) and take the sign of the number with the greater absobite value.

ex: -7+ 12 % 2-7=5 % [2 > 7, S0 answer is positive —‘% onswer:@
ex 6 +(9) —-%' 9-6=23 % 9> 6, S0 answer is negative % onswer:@

T Sibtractng Tnteg ers -

«  Keep the first number the same, change the subtraction sign to an addition sign, and
change the sign of the second number. Then use the integer addtion rules.

ex 3-9 —> 3+() :@
ex: 15-(8) —> E5+6z@

ex 6- (4 —> -6 +4z@

MU[t;plggng é D\ndmg Integers rrrrrrrrr

Ignore the signs and mu%hplg or divide as usual. Then determine the sign of‘ the answer using
the following rules:

»  Negative - or + Negative = Postive
«  Negative - or + Postive (or Posttive - or + Negative} = Negative

ex -3-(5) —» 3'5=15 —> neg-neg=pos — onswer*:.@
exUg+(8) — Y8:6=8 — pos+neg=neg — answer.

. Orderof Operatons
Parentheses
Exponents
Multiplication ¢ Division (left to right)
Addition ¢ Subtraction (left to right)




Find the sum or difference.

L -80+77 2. 77 + 6O 3 64 +(33 Ul - (92)
3. -05-{-122) - 6. BS-(-IB4) 7. -53- (-39 8 64+(3)
9. 15-(-26)- (-39 0. 93 + Bl +{-179) I B+{34+52 2. -50-(-93) + (-17)

Find the product or guotient.

3. 60+ I2 W, -4 + (2) 5. 88 - {-2) 6. -2+ 10
7. ~10- C1) 8. 90 + (-6) ' B 3- (59 20, -7+ (-2)
21 28+ (22) + (88) 2256 40+ (80) 23, 106+ (2)- (-12) ot 8- (-17) + U2

Evalate the numerical expression. (Be sure to use the order of operationsl)

(-27)-2 . (-10)-2

25) —t— ] 26) -
- (~4)- (c2y
3%.2 8.9 o
N5 ®) 0710
29) (-5.1) 2.8~ {(-8.6) - 42) . 30)' 07493
) Coo (1)

31) (c07) it 32) ((-8.3) - (-9.1) + 2.6) - 5.8

4.7 -39 . :



Operations with Rational Numbers

 Adding éSUbtmctlng Rat;onoi Numbers

Determme whether you should add or subtract using integer rules. Then add or subtroct

+  Decimdls: Line up the decimal points. Then add or subtract and bring the decimal point
down. Use nteger rules to determine the sign of the answer.

9.80
ex 98 +624 —> neg +pos:subtract —> " 624 — answer:

356

»  FPractionsiMixed Numbers: Find a common denominator and then add or subtract. Borrow
or convert an improper fraction answer, if necessary. Use mteger ruies to determine the
sign of the answer.

3
SE_M

ex: ( 7)—}5 +3 — pos + pos:add —> 3 g%answer

8

75

Multapiging é st;dsng Rottonol Numbers

Determtne the SIQn of the answer using Integer rules. Then muttiply or diide.

*  Muttpblyng Decimals: Ignore the decimal points. Multiply the numbers. Then count the
decimal places in the problem to determine the location of the decimdl point i the answer,

923
ex: 923 (1) —> neg-neg=pos ~—> xq23 —> answer:

9230
0153

»  Diwiding Pecimdls: Move the decimal in the divisor to the end of the number. Move the
decimal in the dvidend the same number of places and then bring t straight up in quotient.
26,

ex: -52+02 —» neg+pos=neg —» 2)52 — answer:

*  Mutplyng Fractions: Corwvert mixed numbers to improper fractions. Then cross- Sirmplify.
Muttiply the numerators and muttiply the denominators. Simplify it necessary,

I 3
. 43.8 o Y & 3 @
ex: iq I —>  Neg-pos=nheg — 2% EZ —> answer:

+  Dwiding Fractions: Convert mixed numbers to improper fractions. Then flib the second
fraction to ts reciprocal and muttiply the two fractions. Simplify if necessary.

. :
| A
ex: %—(g) — neg+neg=pos ——» IE'%/ =3 onswer:@




Find the sum, diff erence, product, or guotient.

33. 386 + 36841 34, 1755- 123 35. 071-92 36. 1312+ 0.
37. 365|-(-1263) 38. -39 +(-76) 39. 17643 4o. 6- (-16.7)

4l 26474 - 4527 Yo -2.1+378 43, -6.15 + (8.2) Y 128 - (4.88)
Find the sum, difference, product, or duotient.

s, 52+ 5l 4e. 8 Wap- 17 Y2 U7. 2%y 1% Ug. 32+ 137
Ua. 33-51q 50, 5 (-1%s) 51423 (130 52, - Sl + (-2 Ye)
53. 9+ (4 o) 54. -8 +3Ys 55. 5543 (-2 3e) 56. -5 3y - (-3 7/g)



Solving Equations

~ Solving One-Step. Equatlons

Cc:ncel out the number on the same side of the equation as the VCI%"'.C]ble by usihg the

rverse operation. (Addtion/Subtraction; Muttiplication/Division). Be sure to do the same
thing to both sides of the equation!

ex ex=-B — X =LE— —>  answer:
ex y+23=9 — 9+igx-°} —>  answer:
o5 23

ex. bézq' — 8*%:4'3 — ohswer:
ex w-B=5 — w- Ex? — GhSWer‘:
HB I3

Undo operdations using inverse operations one at a time using the order of operations in
reverse. (ie. undo addtion/subtraction before undoing multiplication/division)

ex; TXx-U=-32 —? 7x~&z-32 ——} %Lx_Z_&-—} CIhSWe(‘:
t +t 7

ex:%+|3:|5 ——} %TL_% l% ——>\5%;2 5 —% Unswer

ex:bé7=-2 _%\3%7:_2-3 — b+_;=h—% — onswer:




Solve the onhe-step equation.

57. 9+ )=-34% 58. m-26=13 =0, 2“- 60. 2f =216

'61 g- (‘3 |) = -7 87, 2:7 I3 . 63 b+ (‘3) =9 64, -Hw = -280

Solve the two-step equation.

65 5m-3=27 66, 7%:“3 O B7. 4+3r=B 68 Yop-U=7

SRR 70 t-(B)= 2 71-5-2=5 72, B +lUm=2

73 -B-34v=3 7y 20 75 35mM +075=-625 76 24+3=101

il



Proportions and Percent

. Set cross-products equel to eoch other ond then solve the onewstep equotmon for the given
variable.

ox g“% —> 5-0=Ub %%“:ELV% answez":

. Soling Percent Problems with Proportions. .

. | . _*_part
Set up and solve a proportion as follows: 00 " whole

ex: 25 Is what percent of 5007 — %xé@% —} answer: X =
ex What s I5%of 887 —> —%ST% —>  answer:x = @

D 0 B _
ex: 1B is 30# of what number? — ™% —  answer:x z

SOth Per‘cent Pmblems with Equotsons

. Tronslate the question to an equation and then solve. (Be sure to convert percents to
decimals or fractions)

ex: 20 s 40# of what number? — 20=0Ux — answer: X =

ex: 815 what percent of 327 —% 8 = 32X —} x =025 —} answer: .

ex. What is 25#0of 887 — x=025-88 — onswer:x:@

Reoi Woﬂd Percent Problems

(777;5 5 JUSZ one way of many to solve reakworld percent problems)

+  Tax Findthe amount of tax using a proportion or equation. Then add the tax to the
original amount to find the total cost.

«  Discount: Find the amount of the discount Using a proportion or equation. Then subtract
the amount of discount from the original price to find the sale price.




Solve the proportion.

h 20 5 c & 21 30 26
Dz 78 = — 2 = . 2
S PR [ 8. 7= 5
5 B 32 q B B w 15
&l P 56 82 oo 83 > = p a4 =" 200

Solve the percent problem.
86. 6 is 75% of what 87. W0 iswhat percent 88 What is 20% of 45?

85. Find 5% of a5.

nuMber? of" 3207
83. 70 s what percent  90. Find 33 .% of 81 9 A$S8 cameraison 92, Find the total price
of 3507 sdle for 20% off. of a $ .00 shirt
Find the sale price. including the 7%

sales tax.



(Geometry

. GeometryBases © .

Perimeter Is the distance around a polygon
Circumference is the distance around a circle
Area Is the space inside a figure

Volume is the capacty of a 3-dmensional figure

Surface Area is the sum of the areas of dll the faces on a 3-dmensional figure

“2.Dimensiondl Geometry Formulas

Perimeter of Ang Figur‘e sum of side lengths
Circumference =it - dameter

Area of Pardlleiogram = base - height
Area of Triangle = El base - height

Area of Trapezoid = —21 height{base, + base,)

Area of Circle = nt - radius?

3 D mesmol Geometry Formuias

Volume of Rectangulclr Prism = length - width - heignt
Volume of Cylinder = .- radius? - height
Surface Area of Rectangular Prism = 2 - length - width + 2 - length - height + 2 - height - width

Surface Area of Cylinder = 2 - - radius? + 2 - 1t- radus - height




Find the perimeter (or circumference) and area. Use 3.4 for pi,

g3. 5 cm 4.
I
| (e
5cm 4cm {
' '
9cm
95. 46,
2n _
3N 10 m
3n
Bm
&n
Find the surface area and volume.
Q7. 9a.
3N
8 cmy
2 in
& cm
9. 100,

3cm

I3 mm






